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Question 1: (6Mark)

Objectives: This question is related to statistical analysis
1) Define the terms (a) accuracy (b) precision.
2) Five voltage measurements were 10.1V, 10.5V, 9.6V, 9.8V, 10V. Assume
only random errors are present. Calculate:

(a) Arithmetic mean.
(b) Standard deviation.
(c) Variance.
(d) Probable error.

Question 2: (FMark)
Objectives: This question is related to galvanometer
A basic D’Arsonval movement with a full scale deflection current of 50 uA and
an internal resistance of 1800 Q is to be converted into a 0-1V, 0-5 V,0-25V, and
0 -125 V multi-range voltmeter using individual multipliers for each range.
(a) Calculate the individual multipliers Ry, R,, Rs, and Ry,
Ry

1

(b) Calculate the sensitivity of the voltmeter.
(c) What would the voltmeter read on the 25 V range if connected across the
500 kQ resistor between terminals A and B shown in the following figure.

500kn. A ’
+l
=20V 500k
e
B .
Question 3: (#Mark)

Objectives: This question is related to electrodynamometer
1) Prove that the average deflection of electrodynamometer type wattmeter is
proportional to VIcos¢.
2) Explain the advantages and disadvantages of electrodynamometer type
instruments.
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